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The answer is A












The answer is C



A nickel wire has a resistance R. If
its length and diameter are both
reduced by a factor of 4, its
resistivity will:

Select one:
O decrease by a factor of 4

O stay the same
O decrease by a factor of 16
O increase by a factor of 4

O increase by a factor of 16

The answer is B









Capacitors A and B are identical.
Capacitor A is charged so it stores 4 J
of energy and capacitor B is
uncharged. The capacitors are then
connected in parallel. The total stored
energy (in J) in the capacitors is now:
* L)

(2 Points)
















Useful Constants

ko = 1/4ne, = 9 x 10° N.m?2/C2; g, = 8.85x10°'2 C2/N.m?2; e
= ].SXIO_IQ C; me[ectron = g.]] x ]0_3] kg; mproton = ].67 x
10727 kg; g = 9.8 m/s?

If a potential difference of 2 V is applied across a 1-uF
capacitor, then the charge (in uC) on the capacitor is

T [

O b.4

@ C. B
O d.8

O e. 10



Useful Constants

ke = 1/4ne, = 9 x 10° N.m?2/C2; ¢, = 8.85x107'2 C2/N.m?2; e
= ].GXIO_IQ C; melectron - 9.]] x ]0_3] kg; mproton - ].67 x
10727 kg; g = 9.8 m/s?

Four capacitors are connected as shown in the figure. If C=
3.0 uF, the equivalent capacitance (in uF) between points a
and bis

C 3.00 uF
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6.00 uF

O a.6.0

O b.57

@ €. 5.5
@ d.50

O e.b.3
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If R =9 Q, what is the equivalent resistance (in Q) between
points A and Bin the figure?

3R SR
B
3R SR
A
3R 5R
O a.64
O b.96
W c. 112
O d. 48

O e. 32






1074 kg, g = 9.8 m/s*

A potential difference of 7.0 V is applied across a cylindrical
conductor. The conductor is 20.0 m long, and has a radius of
0.5 mm and a resistivity of 5.6 x 1078 Q.m. The current flowing
in the conductor (in A) is

O a.l4

@ b.25

@ c.4.2
O d. 49

O e.B.l






Two identical parallel-plate capacitors each having plate
area A = 50.0 cm? and plate separation d = 1.0 mm are
completely filled with two different dielectrics of dielectric
constants K3 = 2.0 and K; = 5.5, and then connected as shown
in the figure. The equivalent capacitance (in pF) of the
combination is

K,

a. 221

b. 266
c. 332

d. 389

e. 416

O 0O O O O
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tor in thie figure is initially unchargsd. f #=15.0

= =240 v, and the tirme r:unstnnt'fi"r'irﬁa'.ﬂ Hs, then aftar
cloging the switch the tire (In ps) it takes fer the voltage

, neross the capacitor o ra-hnh aovis
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